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Instructions for Candidates
] 1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt five questions in all.
3. Simple calculator is allowed.

4. Answers may be written either in En.glish or Hindi; but the
same medium should be used throughout the paper.
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(i) Required reserve ratjq 20%

(ii) Desired Excess Resery, Ratio = 59

(ili) Desired currency to deposi ratio = 25%

(9)

(b) Describe two ways in which financia| intermediaries

help lower transaction costs in the economy. (6)
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,» (a) By choosing 4,
confronts a cpg;
targel or an intere

' k
Ntermediate target the central ban

€€ of achieving ecither @ mnn:la‘r}'
St rate target, Which is better? Explain.

(8)

(b) There are two Bonds, Bond A and Bond B, wherein,
Bond A has zerq probability of bankruptcy, face value

of 1000 Rupees with 4 maturity of one year and coupon
rate of 5%.

Bond B has 10% probability of bankruptey, face value

of 1000 Rupees with a maturity of one year, and coupon
rate of 5%.

(i) Calculate the price and yield to malurity of Bond
A and Bond B.

(i) Why do they differ in price and yield to maturity.
Explain diagrammatically. (7
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3. (a) What are the main approaches to money stock
determination? Discuss the money multiplier approach

where money is defined as broad money. (8)

J
(b) Would moral hazard and adverse selection still arise in

financial markets if information is not asymmetric?
Explain, (7)
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. (@ “The beauty of the
only in its i“lUitivg
of the other 1y, h
explaining the sha

Preferred habitat hypolluzsis lies not
appeal in combining the bes! HSP“EFS
Ypotheses but also in its power in
Pes of the yield curve.” Elucidate.

(10)
(b} Explain; the adva“lﬂgcs and disadvantages of India
adopting Base] I11. (5)
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3. (a) Discuss the conditions that led to the current banking
crisis (2008 onwards) in India. (8)

(b) Discuss the factors causing financial crisis in the

financial markets. (7)
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. Assuming other things remainj),

£ con :
impacl of each of the follnwin N Islanl. determine the
[ndin : y supply

(i) RBI lowers the requireg reserve rati
¢ ratio

(ii) Interest rate paid op deposits ri
ses
(i1i) Probability of Bank failure rises

(iv) An earthquake in Bhuyj (8)

(b) The Central Bank of India increaseg required reserves

Graphically, illustrate the impact of this action on the
money supply if :

(1) Money supply is exogenous

(i) Money supply is endogenous : (7)
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7. (a) Discuss the implementation lags and effectivencss lags

in monetary policy, (8)

(b) Suppose investors prefer one year bonds to three year
bonds and will purchase a three year bond only if they
€xpect to receive an additional 2 percent over the return

from holding one year bonds. Currently one year bonds
yield 3 percent, but investors expect this yield to rise to
4 percent next year and to 6 percent year after.

(i) Which of the three models of term structure is
relevant in this case and why?

(i) Is the yield curve upward sloping, flat or
downward sloping?

(iii) What is the yield on the three year bond?
(7)
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S. Write short notes on any two:
(a) Open market operations
(b) Asset Securitization

(c) Banks Strategics for countering asymmetric information

: (7.5+17.5)
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